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3
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post: joint(a1=0)
marginal(le)

post: joint(a2=0)
marginal(chien)

post: joint(a3=0)
marginal(noir)

the 1 a1 = 1 a2 = 1 a3 = 1
lex: the-le lex: the-chien lex: the-noir
jump: 1− b1× 3

3
c jump: 1− b2× 3

3
c jump: 1− b3× 3

3
c

joint: θle|the × δ0 joint: θchien|the × δ−1 joint: θnoir|the × δ−2

post: joint(a1=1)
marginal(le)

post: joint(a2=1)
marginal(chien)

post: joint(a3=1)
marginal(noir)

black 2 a1 = 2 a2 = 2 a3 = 2
lex: black-le lex: black-chien lex: black-noir
jump: 2− b1× 3

3
c jump: 2− b2× 3

3
c jump: 2− b3× 3

3
c

joint: θle|black × δ1 joint: θchien|black × δ0 joint: θnoir|black × δ−1

post: joint(a1=2)
marginal(le)

post: joint(a2=2)
marginal(chien)

post: joint(a3=2)
marginal(noir)

dog 3 a1 = 3 a2 = 3 a3 = 3
lex: dog-le lex: dog-chien lex: dog-noir
jump: 3− b1× 3

3
c jump: 3− b2× 3

3
c jump: 3− b3× 3

3
c

joint: θle|dog × δ2 joint: θchien|dog × δ1 joint: θnoir|dog × δ0

Marginal
∑m

a1=0 joint(a1)
∑m

a2=0 joint(a2)
∑m

a3=0 joint(a3)
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marginal(le)

Marginal
∑m

a1=0 joint(a1)
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a2=0 joint(a2)
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a3=0 joint(a3)
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marginal(le)
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marginal(chien)

Marginal
∑m

a1=0 joint(a1)
∑m

a2=0 joint(a2)
∑m

a3=0 joint(a3)
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a1=0 joint(a1)
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